.

M.A. (Part-l)
ECONOMICS

Micro Economics
Group-I (Paper - |) (OCT-1 6) y

Q.P.No.: 67338

(3 hours) [Total marks : 100

N.B. 1. Attempt ant four questions
2. All questions carry equal marks
3. Figures to the right indicate marks

1. a. Discuss Samuelson’s ‘revealed preference’ hypothesis (12)
b. Analyse the Neumann-Morgenstern approach to choice under conditions of
uncertainty and the maximization of utility. (13)
2. Comment on: ’ (25)‘

a: Duality of Cost and Production function
b. Kalecki’s degree of monopoly theory of distribution

3. Write notes on each of the following: 25
a. Folk Theorem
b. Cournot’s model of oligopoly

4. Explain asymmetric information and incomplete contracts (25)

5. Discuss: . : 25)
a. Moral hazards and the principal-agent problem
b. Signaling and screening

6. Describe: ’ (25)
a. Walrasian equilibrium between production and exchange.
b. The Theory of Second Best

7. Write notes on any two: ) (25)
a Shepard’s Lemma as a special case of the envelope theorem
b. Kaldor’s theory of income distribution
c. Bertrand’s model of oligopoly
d. Sources of monopoly power
e. Externalities

o [TURN OVER
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M.A. (Part-l)
ECONOMICS.
Macro Economics

‘N.B.: (1)
()

1. ()
(b)

\ Group\-I (Paper - II) (OCT-16) )

QP Code : 67414

[3 Hours] [Total Marks: 100

Attempt any four questions.
All questions carry equal marks.

What are the implication of an increase in the tax rate in the
IS-LM model?

What is crowding out and when do you expect it to occur? is
monetary or fiscal policy appropriate in this case?

- 2. Write notes on ény two of the following:—

(2)
(b)
(c)

Life cycle prothesis
Relative income hypothesis

‘Permanent income hypothesis

3. Write notes on any two of the following:—

(a)

(b)

| (©)
4. (a)
(b)

Money, deficits and inflation
The wage employment relationship
Short run and long run philips curve.

Describe the Mundell Fleming model under flexible exchange
rates.
Explain the concepts of uncoverd interest parity

5. 'Write notes on any.two of the following:—

()
(b)
(c)

Effeciency wage model.
Search model of equlibrium employment
Implicit contracts

6. Answer any two of the following:—

(2)
(b)
(c)

fiscal adjustment
Monetary policy lags
Rules versus discretion

7. Write notes on any two of the following:—

(a)
(b)
(c)
(d)
(e)

Endogenous growth model.
Tobin’s protfolio theory.

Fixed and Flexible exchange rates.
The Lucas critique.

Debt management policies.
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M.A. (Part-l)
ECONOMICS.
Agricultural Economics
Group-1t (Paper ) (OCT-16) QP Code : 67476
(3 Hours) [ Total Marks :100

N.B. : (1) Question No 1 is compulsory.
' (2) Attempt three more questions from the remaining.
(3) All questions carry equal marks.

1.  Write short notes on any three of the following:-
© (a) Engel's Law
(b) Backward Bending supply curve in agriculture
(¢) Buffer stocks
(d) Default and Collateral
(e) Co-operative farming system
(f) Determinants of wage rates

2. (a) Critically examine the role of the Public Distribution system in tackling the
problem of hunger in India.

3. (a) Discuss the Cob-web model.
(b) Examine the role of Farmer's Marketing Co-operatives.

4, (a) Explain the behaviour of a rational farmer with respect to the Factor- Product
relationship.
(b) Discuss the various types of uncertainties in agriculture and the factors affecting
them.

5, Examine the role of the following in rural credit:-
(a) NABARD

(b) Co-operative credit societies

(¢) Commercial Banks

‘6. Attempt any two of the following:-
(a) Discuss Kanta Ahuja's method of measuring unemployment.
(b) Explain free and unfree labour.
(c) Define rural work from a gender perspective.

7. Answer any two of the following.
(a) Types of Farming
(b) Share Tenancy
(¢) Lease Market
(d) Analysis of Rural Classes

| ‘TURN OVER
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M.A. (Part-l)
ECONOMICS.

Industrial Economics
Group-II (Paper - ") (OCT-1 6)

~— — /' aPcCode: 67680

(3 Hours) " [TotalMarks:100

NB. :- )] ‘Attempt any four questions.. ‘
(2) All questions carry equal marks.

1. Explain the following in brief:

(a) Dominant price leadership” : ' 15
(b) Bertrand modei of price competition _ g . 10
2. h (a) Expiain the significance and limitations of Ratio analysis. ' - 15 -
' -(b) . Discuss the types of financial statements. ‘ _ 10
-3. . (a) Ekplain the determinants of vettical integration. ' . 10
(b) Why does monopoly pricing results in dead weightloss? - Explain. 15
4. (a) Diseuss Lapcastrain model of product differentiation. ’ 10 .
(b) Examine the concept of advertising & price conip«:'fition. o 15
N 5. (a) Discuss the interactive framework of structure - conduct performance 15
| (b) Wnte a note on ‘Measures of concentration' : : 10
‘_ 6 (a) Explain the small scale industry development programme. 10

(b) Expain the maJ or constraints on the performance of Public Enterpnses in India. 15

7. Write ‘hotes on any two of the follewiﬁg. . : 25
(a) Sales maximisation theories ' - ‘
(b) Conventional techmques of risk analysm
(¢). Economics of patents
(d) Complementanty between small and larg scale mdustnes
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